Warm Up

If a pistol bullet is fired vertically at an initial speed of 100 m/s, the height in metres after ¢ seconds
is given by the quadratic function...
giveny fhe quadratic —5r2+100r+2

(a) Determine the height of the bullet after 2 seconds.
(b) When will the bullet reach a height of 457 m?
(¢) What is the maximum height that the bullet will reach?
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Example - Building a Quadratic Equation

Determine a quadratic that will have the following roots...

a) 3i & -5i by 4 2iy3

(’)(.—3' ®XtS\= O 5
"'5"?3(,\& { ?
~(5it = 0
72'1'11);-”9:0

!

QQWRMLQO‘ e K=‘l éx:g






4i2fﬁ%

G K=
5

ASR= foxt/( = 1c(3)
M= YOxt /b=~
29"1‘3’07( 11920

- \




	Page 1: Sep 28-9:49 AM
	Page 2: Mar 13-11:00 AM
	Page 3: Oct 12-10:22 AM
	Page 4: Oct 12-10:32 AM

